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FEX 0.3 0.0 0.0 0.2 -1.0
145, 400 443,100 88, 200 258, 400 10, 100
23 23 15 13 1 39 37 1 1
R X -0.4 -0. 1 -0.4 -0.3
113, 500 194, 100 83, 300 134, 000
16 16 8 8 27 27
TE KX -1.9 -1.1 -1. 5 -1.7
78, 400 123, 200 59, 400 86, 700
22 22 8 8 4 34 34
Frid At -0.7 -0.3 -0.9 —0.6 -1.0
112, 900 296, 300 72, 000 166, 400 10, 100
61 61 31 29 8 100 98 1
X 0.1 -0.8 -0.3
94, 100 196, 500 137, 600
23 23 17 17 40 40
X 0.2 0.8 0.2 0.1
70, 800 106, 000 55, 600 77, 700
9 9 3 3 13 13
THIX -0.8 -1.9 0. 0 -0.9 -1.1
51, 800 63, 700 34, 000 52, 200 880, 000
11 11 2 2 1 14 14 1 1
X -1.9 0.0 0.0 -1.6
46, 900 81, 000 40, 000 49, 000
11 11 1 13 13
JEX -1.6 -2. 0 -1.8 -1.3
33, 300 49, 400 39, 200 563, 500
7 7 4 4 11 11 2 2
EALX -0.6 -0.8 -0.6
60, 300 83, 800 63, 600
6 6 1 7 7
K X -3.4 -2. 2 -3.1 -0.7
10, 200 24, 900 14, 200 27, 000
8 8 3 3 11 11 1 1
TN T F -1.0 -1.0 0.1 -1.0 -1.1
60, 800 136, 200 43, 200 81, 800 508, 500
75 75 31 31 109 109 4
B -2.4 -2.9 0. 0 -2.5 -1. 6
77, 700 150, 100 51, 500 93, 900 1, 210, 000
25 25 8 7 1 34 33 1 1
T -1.4 3.7 0.0 -1.3
51, 400 129, 800 72, 800 154, 000
8 8 3 3 11 11 1
=Bl -0.3 0.4 -0.1 -2. 1
107, 000 209, 300 136, 200 705, 000
10 10 4 4 14 14 1 1
BhE -1.4 -1.1 0.0 -1.3 -1.6
36, 900 69, 700 28, 600 41, 300 447, 500
26 26 5 5 33 33 2 2
e -0.9 -1.7 -1.4 -1.4
32, 500 84, 700 65, 100 138, 000
3 3 5 4 8 7 1 1
B i -1.6 -3.0 0.0 -1.8 -2.3
49, 500 55, 500 30, 800 49, 800 430, 000
11 11 4 16 15 1
i -1.1 71.1 0. 4 -1.1 -1. 2
61, 700 84, 300 39, 800 65, 700 336, 000
34 34 10 10 2 46 46 1 1
T -0.7 -1.7 0.5 =0.9 -1.2
46, 000 60, 600 21, 800 48, 600 840, 000
18 18 6 6 25 25 1
BT -1.9 2.1 -1.9
48, 500 69, 700 51, 000
15 15 2 2 17 17
B -1.3 -1.7 -0.8 -1.4 -2.0
41, 900 63, 700 25, 400 47,900 784, 000
12 12 6 6 19 19 1 1
TR T -0.6 -1.3 0. 0 -0.8 -1.6
59, 200 74, 200 43, 400 61, 900 189, 000
16 16 5 5 1 22 22 1 1
TR -0.2 -0.7 1.0 -0.2 -1.2
66, 700 93, 300 29, 000 65, 800 244, 000
10 10 1 12 12 1
T -1.0 -0. 8 0. 0 -0.9
38, 500 56, 400 35, 000 42, 700
8 8 3 3 1 12 12
T H -1.5 -1.4 -1.4
57, 300 88, 700 67, 700
2 2 1 1 3 3
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W i -0.8 -0.8 -0.7 -0.8 -1.7
74, 400 118, ooo 40, 800 75, 400 114, 000
8 8 1 1 10 10 1 1
W7 T -1.7 -0. 3 -0. 4 -1.3 2.1
45, 500 78, 900 23,900 46, 900 920, 000
6 6 1 1 1 1 8 8 1 1
Fom -3.1 -3.9 -3.4 -1.3
32, ooo 53, 300 39, 700 37, 500
7 4 11 11 1 1
TV RITIRE T -1. 7 -1. 2 -1.6 -1.5
14, 400 25, 500 16, 600 335, 000
4 4 1 1 5 5 1 1
351 -0.9 -2.2 -1.3
27, 100 57,100 34, 600
3 3 1 1 4 4
PrEoET -1.7 -2.2 -1.9
61, 900 90, 700 70, 600
7 7 3 3 10 10
W7 B -2.2 -3.2 -1.7 -2.4 -3.5
30, 200 34, ooo 17, 800 29, 400 920, ooo
3 2 1 1 6 6 1
i En -1 3 —1.5 -0. 1 -1.3 -1 7
55, 000 88, 200 32, 600 61, 800 485, 400
236 236 76 73 14 14 326 323 17 17
B & et -1.2 -1.1 -0.3 -1.1 -1.6
65, 600 145, 700 46, 500 85, 400 468, 000
372 372 138 133 25 25 535 530 22 22
OO AT -3.2 -3.6 -3.3 -1.0
32, 100 56, 900 40, 400 98, 000
2 2 1 1 3 3 1 1
] -2.8 -2.0 -2.5 -0.4
23, 200 39, 400 28, 600 28, 000
2 2 1 1 3 3 1 1
At ELAT -2.4 -2.4
14, 600 14, 600
2 2 2 2
N -4.8 -4.3 -4.6
21, 000 46, 900 29, 600
2 2 1 3 3
PE R -3.8 4. 2 -3.9
24, 300 43,100 28, 100
4 4 1 1 5 5
] 7 BT -0.8 -0.9 -0.8 -1.1
93, 300 109, ooo 95, 900 450, ooo
5 5 1 6 6 1
15 KE] -0.3 -0. 8 -0.4
112, 400 127, 000 116, 100
3 3 1 1 4 4
o I BT -0.3 0.7 -0. 1
107, 600 139, ooo 113, 900
4 4 1 5 5
SN AT -0.8 -1. o -0.8
34, 600 48, 000 24, 500 35, 000
6 6 1 1 1 8 7
& T -1.1 -3.8 2.0
39, 400 25, 300 34, 700
2 2 1 3 3
JIFRAH] -2.9 -1. 1 -2.5
10, 200 26, 700 13, 500
4 4 1 1 5 5
RHT -1.5 -0.5 —1.1
27, 600 38, 800 31, 300
2 2 1 3
B AF 2t -1.8 —2.0 —1.8 -0.8
49, 900 63, 600 24, 500 52, 400 192, 000
38 38 11 11 1 50 49 3 3
& = -1.2 -1.2 -0.3 -1.2 -1.5
64, 200 139, 700 45, 600 82, 600 434,900
410 410 149 144 26 25 585 579 25 25
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